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4. Show the Boolean expression and the truth table of the following circuit?
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5. Draw the binary search tree whose elements are inserted in the following order:
93,72-96-94-107-26-12-11-9-2-10-25-51>16-17 - 50
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public class app{
public static void main(String args[]){
int A[] = {0,1,2};
int B[] = {3,4,5};
B = add10(A);
add10(B);
for(int 1=0;i<A.length;i++)
System.out.print(A[Li]+" "™);

}
public static int[] addi0(int arr[]){
for(int i=0;i<arr.length;i++)
arr[i]=arr[i] + 10;
return arr;
}
}
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#include <stdio.h>
void cubeByReference(int *nPtr);
int mainQ)
int number = 10;
printf( "The value of number is %d", number );

cubeByReference(&number) ;
printf( ""\nThe value of number is %d\n", number );

return O;

}

void cubeByReference(int *nPtr)

*nPtr = *nPtr * *nPtr * *nPtr;
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